





Foster Entrepreneurship amongst Youth in Uva Province



Department of Management Sciences

Uva Wellassa University

The overall objective of the projects is to take action for the wellbeing of Uva by transferring ample knowledge on Entrepreneurship and Business Management which will contribute towards development of the province, in order to create a society with less poverty, less unemployment, high purchasing power and optimum living condition.

Project 01 - Business Planning and New Venture Development

(A project for Advanced Level students)

Objectives of the project

- Enhance the entrepreneurial orientation among school students
- Establish entrepreneurial clubs in schools in Uva province
- Reduce unemployment of Uva region
- Increase the living condition of Uva community
- Communicate the contribution of UWU towards the development of entrepreneurs in Sri Lanka

Task Plan

Five workshops will be conducted by respective resource persons at selected schools in;

- Bibila.
- Mahiynganaya,
- Passara,
- Monaragala and
- Welimada.

Target group: 500 from each region, total 2500 A/L Students

Tentative Time Period: June 2016

Resource Persons: Lectures from Faculty of Management, Selected best performing students from Department of Management Sciences

Business plan competition will be held for the students in three major categories (Trade, Technology and Agriculture)

Winners will be awarded at the ceremonial evening at UWU premises

Guest Speaker: A prominent entrepreneur in Sri Lanka

Tentative date: First week of August

Proposed Budget

Awareness Programme - Business Planning and New Venture Development

- Workshops will be conducted on venture creation and business plans
- A major objective is to establish entrepreneurial clubs in schools
- A business plan competition will be organized for school students
- Target group: Advanced level students of Mahiyanganaya, Bibila, Welimada, Monaragala, Passara

Winners of the competition will be awarded at a royal awarding ceremony.

Description	Number	Unit Price	Sub Total	Total
	of Units	(Rs)		Amount
Transport (Up and Down)	4 = 0 1			
Badulla to Bibila	150 km	45	6,300	
Badulla to Mahiyanganaya	130 km	45	5,850	
Badulla to Monaragala	145 km	45	6,525	
Badulla to Passara	50 km	45	2,250	
Badulla to Welimada	70 km	45	3,150	
Defrechment for recovere nergons	60	300	30,000	
Refreshment for resource persons	00	300	30,000	
Awarding Ceremony (Evening)				
Decoration			50,000	
Invitation	100	150	15 000	
Invitation	100	150	15,000	
Refreshments	650	200	130,000	
Refresiments	050	200	130,000	
Souvenirs				
Best Entrepreneur (Male)	03		30,000	
(Gold, Silver, Bronze)				
Best Entrepreneur (Female)	03		30,000	
(Gold, Silver, Bronze)				
Youth Entrepreneur	09		90,000	
(Agriculture, Technology, Trade)				
(Champions, First Runner Up,				
Second Runner Up)				
Madia (Danalana and 1919)			40.000	
Media (Royal ceremonial day)			10,000	

Certificates				
Winners- Business plan				
competition				
Winners – Best Entrepreneurs				
Resource Persons	150	80		
			15 <u>.</u> 200	
Miscellaneous	10	80		
	30	80	20,000	
				20,000
Takal				444 275
Total			_	444,275